Solutions to Exponential Functions Problem Set

1. Find the value of:

(@) ¢° (© 2°° (e) 272

(b) 8747 @ () () 23>, when z = 2

o < ) DEVT AR 9w o)

(o s AVAVEN \\

_n _
9 %’\ O ;‘E\& = &\(—%\\ - \3\6-73

= \
= \;i\ | ]
-5 N | -2 €\3 9. 5 - (9D
) 9\ 9\3 %9 :\X \ o - ) 2{

¥ -3
:Q S = 2% = %3
2. Solve for x:
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3. Draw a sketch of the function y = o, if @ > 1. Make a list of features that all graphs of this
type have in common.
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4. Simplify the expression Py by first factoring out the greatest common factor from
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the numerator and from the denominator.
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5. Use properties of exponents to simplify the expression ——
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